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0.1 Where was the 16th BRICS Summit held from 22 to 24 October 2024?
Ans +« 1. Kazan, Russia
x 2. Beijing, China
x 3. Johannesburg, South Africa
x 4. New Delhi, India
0.2 From which of the following countries did India borrow the idea of Fundamental Duties to incorporate into its
Constitution?
Ans  x 1. Poland
« 2. USSR
x 3.China
x 4. )apan
Q.3 Which of the following is NOT a part of the legislative branch of the Union Government of India?
Ans  x 1. Council of States
x 2. President
« 3. Council of Ministers
x 4. House of the People
0.4 Who among the following is known as the ‘Tiger man of India’?
Ans x 1. Dulal Manki
x 2. Girish Prabhune
« 3. Kailash Sankhala
x 4. Chandrakant Mehta
Q.5 Who founded the India Home Rule Society in 1905 in London to advocate for self-rule in British India?
Ans  x 1. Mahatma Gandhi
« 2. Shyamji Krishna Varma
% 3. Annie Besant
x 4. Gopal Krishna Gokhale
Q.6 Who among the following is the owner of the ‘Kolkata Royal Tigers’ for the Indian Racing Festival 2024?
Ans « 1. Sourav Ganguly
x 2. Nita Ambani
¥ 3. Yusuf Pathan
x 4. Shah Rukh Khan
Q.7 The region of Singrauli is known for its extensive reserves of:
Ans  x 1. gold
X 2. copper
% 3. uranium
« 4. coal
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Q.8 Which of the following is the biggest temple built during the reign of Rajendra-I in Ariyalur region of Tamil Nadu?

Ans 1. Gangaikondacholisvarar temple
x 2. Kaalikaamba Kamatheshwara Temple
« 3. Shri Someshwara Swamy Temple

x 4. Shri Mahabaleshwara Swamy Temple

Q.9 Who among the following Mughal rulers built the Ibadat Khana (House of worship) in the town of Fatehpur Sikri for

religious discussions?
Ans  x 1.Babur
x 2. Aurangzeb
« 3. Akbar

x 4. Shah Jahan

Q.10 How many licensing agreements were given by DRDO at the Maharashtra MSME Defence Expo 2024 in Pune?
Ans x 121

x2.20

x3.22

v4.23

Q.11 What is the duration of the term of office for the President according to Article 56 of the Constitution?
Ans x 1. Four years

& 2. Five years

x 3.Seven years

x 4.Six years

Q.12 As per the 2011 census report, which state has the highest sex ratio?
Ans  x 1. Karnataka

% 2. Himachal Pradesh

3. West Bengal

« 4. Kerala

Q.13 The Anushilan Samiti traces its history back to 1902 when it was established by Satish Chandra Bose and Barrister

Praanath Mitra in present-day
Ans  x 1. Chittagong

« 2. Kolkata

x 3. Dhaka

x 4. Patna

Q.14 In which of the following states is Corbett National Park located?
Ans  x1.Kerala

x 2. Madhya Pradesh

x 3. Himachal Pradesh

« 4. Uttarakhand

0.15 In which state is the hill station of Mussoorie located?
Ans  x 1. Karnataka

% 2. Sikkim

« 3. Uttarakhand

x 4. Kerala
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Q.16 The original jurisdiction of the Supreme Court extends to disputes between

Ans  x 1. two parties
x 2. local governments and central authorities
x 3. two ministers

« 4. two or more states

Q.17 Which of the following took place first in Indian history?
Ans « 1. The Pitts India Act
% 2. The Treaty of Lahore
x 3. The Doctrine of Lapse
x 4. The Subsidiary Alliance
Q.18 In which month of 2024 was the Union Home Ministry notified the rules for the implementation of the Citizenship
Amendment Act?
Ans  x 1. February
« 2. March
x 3. April

X 4. January

Q.19 Which of the following sessions of the UN General Assembly (UNGA) was held in September 20247
Ans  1.77th

x 2. 81st

x 3.75th

o4 79th

Q.20 Which country's President visited India on 25 October 2024, and apologised for the historical wrongs associated

with the boarding school policy?
Ans  x 1. Australia
x 2. Germany
« 3. USA

x 4. Canada

Q.21 Six people, A, B, C, D, E, and F are sitting in a row, facing north. A sits third to the left of D. E sits second to the
right of D. C sits to the immediate right of F. B sits fourth to the right of A. How many people sit between B and F?

Ans  x 1.Three
x 2.0ne
& 3. Two
x 4.None
Q.22 Six people U, V, W, X, F and G are sitting around a circular table facing the centre of the table. Only four people sit

between W and U when counted from the right of W. W sits third to the left of F. U sits third to the left of G. V is

an immediate neighbour of U. How many people sit between X and V when counted from the right of X?
Ans x 1.0One
2. None
« 3. Two

x 4. Three
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Q.23 Select the pair that follows the same pattern as that followed by the two set of pairs given below. Both pairs follow

the same pattern.

EOY : HRB
KAU : NDX
Ans 1. MCW: PFZ
X 2. ABC: CBX
X 3. QRS: TUQ
X 4. NOT: QLW
Q.24 Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and

thus form a group. Which letter-cluster DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)
Ans « 1. HKR
x 2. MPV
x 3. CFL
x 4.0TZ

Q.25 Select the set that follows the same pattern as the one followed by the two sets given below. Both sets follow the

same pattern.

PS - WZ - DG
LO - SV - ZC
Ans x 1.FI-=NP -SW
¢ 2.FI-MP -TW
% 3.E) - MO - TW
x4.E) - MP - SV
Q.26 If 1is added to each odd digit and 1 is subtracted from each even digit in the number 5638274, how many digits
will appear more than once in the new number thus formed?
Ans x 1. Two
% 2.0ne
% 3. Three
« 4. None
Q.27 In a certain code language,
‘A + B’ means ‘A is the daughter of B’
‘A - B”means ‘A is the brother of B’

‘A x B’ means ‘A is the wife of B’
‘A # B’ means ‘A is the father of B’

Based on the above, how is H related to | if H-E+R# O xI'?
Ans « 1. Wife's brother

x 2. Wife's father

x 3. Father

x 4. Brother



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.28 Each of the digits in the number 6413275 is arranged in the ascending order from left to right. The position(s) of

how many digits will remain unchanged as compared to that in the original number?
Ans x 1. Two
x 2. Three
« 3. None

x 4.0ne

Q.29 What should come in place of the question mark (?) in the given series?

2428 1214 ? 303.5 151.75
Ans x 1.603

% 2.613

x3.614

v 4.607

Q.30 What should come in place of the question mark (?) in the given series?

51,105, 213, 429, 861, ?
Ans  x1.1821
v 2.1725
x3.1825
x4.1721

Q.31 Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

M

—LI__I

Ans 1.
. mall

O

Q.32 Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and

thus form a group. Which letter-cluster DOES NOT belong to that group? (Note: The odd one out is not based on

the number of consonants/vowels or their position in the letter-cluster.)
Ans x 1. LUQ
x2.Qzv
% 3. XGC

« 4. BKE
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Q.33 In the following number-pairs, the second number is obtained by applying certain mathematical operations to the

first number. Which numbers should replace X and Y, so that the pattern followed by the two numbers on the left
side of :: is same as that on the right side of :: ?

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into their
constituent digits. E.g. 13 - Operations on 13 such as adding/subtracting/multiplying to 13 can be performed.

Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

X:44::21:Y
Ans x1.X=12,Y=67

x2.X=12,Y=56

x3.X=15,Y=47

#4.X=14,Y=65

Q.34 In the following number-pairs, the second number is obtained by applying certain mathematical operations to the

first number. Select the set in which the numbers are related in the same way as are the numbers of the following
sets.

13, 87
1n,73

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding / subtracting /multiplying etc. to 13 can be
performed. Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

J ]
Ans x1.14,102

x2.2,14
v 3.9,59

x4.6,42

Q.35 Refer to the following number series and answer the question that follows (all numbers are single digit numbers
only). Counting to be done from left to right only.

(Left)3835137226372812281554 8(Right)

How many such odd digits are there each of which is immediately preceded by an odd digit and also immediately
followed by an odd digit?

Ans x 1. Two
x 2. Five
x 3. None

« 4. Four

Q.36 Each letter in the word STRETCH is changed to the letter immediately preceding it in the English alphabetical
order and then all the letters thus formed are arranged in alphabetical order. Which of the following letters will be
fourth from the right in the new group of letters thus formed?

Ans x 1S
v2.Q
x3.D

x4.B
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Q.37 Refer to the following letter series and answer the question that follows. Counting to be done from left to right

only.
[Lefti DBASDFGHJKLMNIQRTP O [Right]
Which of the following is the fourth letter to the right of the th letter from the left end of the series?
Ans x 11
2. N
x3.L
x4 M

Q.38 What will come in the place of the question mark (?) in the following equation, if ‘+ and ‘-’ are interchanged, and ‘x’

and ‘<’ are interchanged?

16+2+72x2-3=72
Ans x1.10

x2.-10

x3.1

# 4. -1

Q.39 Select the pair that follows the same pattern as that followed by the two set of pairs given below. Both pairs follow

the same pattern.

SIT : KAL
BRM : TJE
Ans X FGH: XZG
¥ 2. HWK: ZOC
X 3. TIM: LAF
X 4. PQR: HIK
Q.40 If each vowel in the word OESOPHAGUS is changed to the letter immediately following it in the English

alphabetical order, then which of the following letters will appear exactly twice in the new group of the letters

thus formed?
Ans x1H
v2.S
x3.P

x4.B

Section : General English and Comprehension

Q.41 Select the most appropriate meaning of the given idiom.

Burn the midnight oil
Ans  x 1.To engage in secretive activities
« 2. To work late into the night
x 3. To waste resources extravagantly

% 4. To celebrate until dawn

Q.42 Select the most appropriate synonym of the underlined word in the given sentence.

The detective had toscrutinise every detail to solve the case.
Ans « 1. examine
x 2. record
x 3.ignore

x 4. mention



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.43 Select the most appropriate option to fill in the blank.

Despite the chaos around her, Maya calmly her breathing and focused on staying composed.

Ans  x1.evaporated
* 2. magnified
« 3. regulated

x 4. distorted

Q.44 Select the option that can be used as a one-word substitute for the given group of words.

A person who treats animals
Ans « 1. veterinarian
x 2. biologist
x 3. pharmacist
x 4. botanist
Q.45 Select the most appropriate option to fill in the blank.
The flowers in the garden looked ___ after the morning rain.
Ans  x 1. freshly
x 2. freshen
« 3. fresh

x 4. freshness

Comprehension:

Read the passage carefully and answer the questions that follow.

Europe is generally characterised by a temperate climate. Most of western Europe has an oceanic climate, in the Koppen climate
classification, featuring cool to warm summers and cool winters with frequent overcast skies. Southern Europe has a
distinctively Mediterranean climate, which features warm to hot, dry summers and cool to mild winters and frequent sunny
skies. Central-eastern Europe is classified as having a humid continental climate, which features warm to hot summers and cold

winters.

The coastal lowlands of the Mediterranean Basin have more of a wet winter and dry summer season pattern; the winter season
extends from October to February while the summer season is mainly noticeable in the dry months where precipitation can, in
some years, become extremely scarce. A very small area in the continent features the desert climate that exists in the south-
eastern coasts of Spain making them the only places in Europe that have an arid climate.
SubQuestion No : 46
0.46 In which month does the winter season end in the Mediterranean Basin?
Ans x 1. January
x 2. October
« 3. February

x 4. November
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Comprehension:

Read the passage carefully and answer the questions that follow.

Europe is generally characterised by a temperate climate. Most of western Europe has an oceanic climate, in the Koppen climate
classification, featuring cool to warm summers and cool winters with frequent overcast skies. Southern Europe has a
distinctively Mediterranean climate, which features warm to hot, dry summers and cool to mild winters and frequent sunny
skies. Central-eastern Europe is classified as having a humid continental climate, which features warm to hot summers and cold

winters.

The coastal lowlands of the Mediterranean Basin have more of a wet winter and dry summer season pattern; the winter season
extends from October to February while the summer season is mainly noticeable in the dry months where precipitation can, in
some years, become extremely scarce. A very small area in the continent features the desert climate that exists in the south-
eastern coasts of Spain making them the only places in Europe that have an arid climate.
SubQuestion No : 47
Q.47 What is the most appropriate summary of the passage?
Ans 1. Central-eastern Europe is classified as having a moderate continental climate
% 2. The Mediterranean Basin has more of a dry winter and wet summer season pattern
x 3. The continent features the desert climate that exists in the north-eastern coasts of Spain

« 4. General climate characteristics of Europe according to the K&ppen climate classification

Comprehension:

Read the passage carefully and answer the questions that follow.

Europe is generally characterised by a temperate climate. Most of western Europe has an oceanic climate, in the Koppen climate
classification, featuring cool to warm summers and cool winters with frequent overcast skies. Southern Europe has a
distinctively Mediterranean climate, which features warm to hot, dry summers and cool to mild winters and frequent sunny
skies. Central-eastern Europe is classified as having a humid continental climate, which features warm to hot summers and cold

winters.

The coastal lowlands of the Mediterranean Basin have more of a wet winter and dry summer season pattern; the winter season
extends from October to February while the summer season is mainly noticeable in the dry months where precipitation can, in
some years, become extremely scarce. A very small area in the continent features the desert climate that exists in the south-
eastern coasts of Spain making them the only places in Europe that have an arid climate.
SubQuestion No : 48
Q.48 Select the most appropriate title for the passage.
Ans  x 1. South Eastern Coasts of Spain
% 2. Wet Winter and Dry Summer Seasons
« 3. Climate Zones of Europe: An Overview

x 4. Seasons of Mediterranean Basin
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Comprehension:

Read the passage carefully and answer the questions that follow.

Europe is generally characterised by a temperate climate. Most of western Europe has an oceanic climate, in the Koppen climate
classification, featuring cool to warm summers and cool winters with frequent overcast skies. Southern Europe has a
distinctively Mediterranean climate, which features warm to hot, dry summers and cool to mild winters and frequent sunny
skies. Central-eastern Europe is classified as having a humid continental climate, which features warm to hot summers and cold

winters.

The coastal lowlands of the Mediterranean Basin have more of a wet winter and dry summer season pattern; the winter season
extends from October to February while the summer season is mainly noticeable in the dry months where precipitation can, in
some years, become extremely scarce. A very small area in the continent features the desert climate that exists in the south-
eastern coasts of Spain making them the only places in Europe that have an arid climate.
SubQuestion No : 49
Q.49 Select the most appropriate synonym of the word 'distinctively' as used in the passage.
Ans 1. Uniquely
x 2. Ultimately
x 3. Undoubtedly

x 4. Ubiquitously

Comprehension:

Read the passage carefully and answer the questions that follow.

Europe is generally characterised by a temperate climate. Most of western Europe has an oceanic climate, in the Koppen climate
classification, featuring cool to warm summers and cool winters with frequent overcast skies. Southern Europe has a
distinctively Mediterranean climate, which features warm to hot, dry summers and cool to mild winters and frequent sunny
skies. Central-eastern Europe is classified as having a humid continental climate, which features warm to hot summers and cold

winters.

The coastal lowlands of the Mediterranean Basin have more of a wet winter and dry summer season pattern; the winter season
extends from October to February while the summer season is mainly noticeable in the dry months where precipitation can, in
some years, become extremely scarce. A very small area in the continent features the desert climate that exists in the south-
eastern coasts of Spain making them the only places in Europe that have an arid climate.
SubQuestion No : 50
Q.50 What is the tone of the passage?
Ans  x 1. Humorous and jovial
« 2. Informative and factual
x 3. Critical and complaining

4. Sarcastic and sadistic

0.51 fmfearf&d geray &1 9@ A ggari
RIR 3ism ® &AM

Ans  x 1. 983Id BT
x 2. L HAT
% 3. 8I6 Ubg ol
» 4. gg dre
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Q.52 '33%-00% dqail 3T dlPIfth & 31f 8-
Ans  x 1. SHMGRI & Y SSHA!

x 2. &l & A geiar

« 3. T P HEAT-gGel

x 4. 090 I Ig @A

0.53 fgferfEd fadedl # A 3EeR &1 fAcdid A< ygdr|
Ans  x 137G

x 2. 31e

» 3. ITER

X 4. BIAA

0.54 ‘IR’ &1 qATIar oI R &7
Ans  x 1.3

x2.8%

w 3.aIfeH

x 4. 3090

Q.55 fEfaf@d ared &1 3RId uraras faAvor giRT quf &3

e ___ $YST Yol A 34 2l
Ans  x 1.3He

PYR:

x 3.3

x4.T%

Comprehension:

AR Teriel &Y eATYdes UgahR 39 - ford g & 3R ifSre -

aitell S A 3799 &% 1 1 STRAAY JId §U 611 3 3797 AeA P T 9 b1 TRAT B A1 G241 B A1 faron 3rshiesr H wRedld @bl & fere
JEY BRI U 3T ABTS B 319 b1 Bl ol oft = AL IHS 3R S BRI WY 3BT Tell Bl | i 37b HANG & T | TS HHS
ST gIRT foR¥pd B8 APIIT BT Il H 3791 FHAA Sfa FH R | Yeetiel Sg20n 3 397 TR Fue! HidierT & 7reqq J gt
TREUT Y 1311 BIax SHFA 3T Aicliels, AIféA 2R o

3R HER ST S HETA 33T ¥ S0 T BT 70T 37| S8 A 5t J off IS Il 9 181 b1, Sfeeh AU STHABITUIBT Brl F APl b
Tl R <M o Sitelish &1 acd=rar & folv Ay 39 Siia BT U Usel &, b 37epT AIRe faifrst arvad  web 7y b1 w3 § ofey gan
T el 3= oft APl 1§ $9R F geH B

I BRI T 5 Bl B d=rad A b FaR Al 4 arel IMeNsh Y 579 geg gS ol 3HRB1 BT geast off g fan 1 o |
SubQuestion No : 56
Q.56 'MaFdr &I faeid ferf@e-
Ans 1. 03dFd
2 2. 9707
¥ 3. e ar

x 4. 347
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Comprehension:

FAGRAIRE STertel P eAYdd IgHR 3P -1 ford gl & IR ifSre -

STreft ST 3 379 &R 1 Bl IRHAY A Y A1 A 3797 AgA P 1 om & STRAT B g ferm R A1 < f@or 3rshieet B e T & ferw
JEY B U 3T ABTE B 51 b1 Bl ol oft i A&l S 3R S BRUT WY 3! Gelt Bl I off 37b HANG & ¢ | 1 HHS
IS IR foRTpd $8 AP 1 AT § 3791 FH S FH{S R | Yaetred Sgon 3 3197 TR ‘Fue! sficier & Areqq J gt &
TREUT Fe 1311 PBIEx SHF 3T Aiclieprs, AIféA oer o

3R HeR 1 SR HgTA 3T A g T B wgv fBar) e J B 3 off B I e AL B, b 3197 SHBTUIBRY BT & APl B

f&etl oR oA o | STTefsi @1 Jarc=re & fore Agy 39 e &1 U Uad] &, g 3! ARie faifarst arwda 5 Ue g 1 AH13i H e g3
T8 o1 371 Ioft @l § $97 & gefF fpuy

IE! BRUT T & Bl bl Uerard e o WG el S Tt IiTefsT 1 5Ta 5o g8 ol 3RapT o1 rgeast off gfebl & I e

SubQuestion No : 57
Q.57 diteh St Y Y X IANBT ST AFeast FIPT &A1 741 RSP ARBIAA el sft i
Ans 1. SHABUGR [AY-AdT H1d &
* 2. WA BT WaFdT I a1 a
x 3. 8T AT A HUR 33T §IHT 7Sl SeATUBRT FdT Ad &
* 4. 391 O Jar Ar1q &

Comprehension:

AR JTeliel BT Y IgadR 39 A ford g4 & IR ifSre -

SiTeft ST 3 379 &R 1 bl IRHAY AT Y A1 3 379 Hgd Pl 1 9m &1 STRAT 1 g ferm R 1 &f&or 3rshieet § WRefi ol & feiw
FEY BYA U 3T AP B 519 B B off B i 78 AN 3R S PRI G 37HT Ul byl A ol 39 FANS & 5T¢ Y| Fray HHS
1S gIRT foR¥pd B8 APIT BT a1 H 3791 I S FHfd R o | Yevelied Sgaon 3 3197 R ‘Rue! Hidied & mregy J 9et &
IR &1 I 1311 BIax S 3T Hicliers, AIféA der &

3R HaR 1 SRl HgrA A3 A 3 T B 7gvT far| S5 J B A off H1E Il v AL B, Sfcp 79 STHBUIBIR 1T I Al B

feetl aR 2 e | STTefs &1 Yarc=rel & foiw Agy 39 S &1 s ge &, fbq 37! ARies faifaist arwda & ves g o1 Awi3if & ofer g3
6 71 321 Fofl ol A SR & aeH fpul

I8 BT o & poft et Grard e b Hewd el S aret Siielish & STa §eg g8 ol ARG Bl AgeasT off T & 31T ol

SubQuestion No : 58
0.58 gt HET 3Mc3N A f5y I BT AT fopam ?
Ans  x 1. 99 BB Har @3l
2. 3941 & foru o
x 3. 9 Y

¥ 4. @I 9R QT BRI
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Comprehension:
AR STeriel P e Ydd IgHR 3P - ford gl & IR ifSre -
Sitell S A 3799 &% 1 I STRAAY AId §U 61 3 3797 AP 1 9 b1 TRAT 1 A &A1 B A1 fyon 3rshieer § wRedlg @bl & ferv
JEY B U 3T ABTE B 51 b1 Bl ol oft i A&l S 3R S BRUT WY 3! Gelt Bl I off 37b HANG & ¢ | 1 HHS
IS IR foRTpd $8 AP 1 AT § 3791 FH S FH{S R | Yaetred Sgon 3 3197 TR ‘Fue! sficier & Areqq J gt &
TREUT Fe 1311 PBIEx SHF 3T Aiclieprs, AIféA oer o
3R AR ¥ St HE 33T A s A B WguT b | H A R0 7 off BIE T ured A8 B, 9T 39 TSV BT I Al b
f&etl oR oA o | STTefsi @1 Jarc=re & fore Agy 39 e &1 U Uad] &, g 3! ARie faifarst arwda 5 Ue g 1 AH13i H e g3
T8 o1 371 Ioft @l § $97 & gefF fpuy
I& BRUT T {6 Bl B G b b HER el &1 aret e 1 57a Jeg §S ol HRBT BT geast ol ST f&dn I 2|
SubQuestion No : 59

0.59 3uYw AMde fifsre -

Ans  x 1. HEIgSN! &7 Sfiad
xZ.TﬁSﬁEﬁ
x 3. Jarvrdl IRea
4. 9 B afgar

Comprehension:
AT Teriel T &Y TgbR 3P - o 99l & 3R IfSie -
SiTeft ST 3 379 &R 1 bl IRHAY AT Y A1 3 379 Hgd Pl 1 9m &1 STRAT 1 g ferm R 1 &f&or 3rshieet § WRefi ol & feiw
FEY BYA U 3T AP B 519 B B off B i 78 AN 3R S PRI G 37HT Ul byl A ol 39 FANS & 5T¢ Y| Fray HHS
1S gIRT foR¥pd B8 APIT BT a1 H 3791 I S FHfd R o | Yevelied Sgaon 3 3197 R ‘Rue! Hidied & mregy J 9et &
IR &1 I 1311 BIax S 3T Hicliers, AIféA der &
3R HER S St HET 3Te3T 7 Sl I B WEuT 35T | 3K A el A off IS Il w8 B, b 3197 SHABITUIBT BTt F ARl b
feetl aR 2 e | STTefs &1 Yarc=rel & foiw Agy 39 S &1 s ge &, fbq 37! ARies faifaist arwda & ves g o1 Awi3if & ofer g3
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Q.61 Which future skill is crucial for cybersecurity professionals to effectively analyse and mitigate advanced threats?
Ans  x 1.Basic hardware repair
« 2. Advanced threat intelligence analysis
x 3. Social media marketing

x 4. Basic office software proficiency

Q.62 Which type of virus is designed to spread through removable storage devices such as USB drives?
Ans  x 1. Resident virus

« 2. Autorun virus

* 3. Polymorphic virus

¥ 4. File infector virus
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Q.63 What command will you use to copy a text file from the C drive to the D drive in a Command Line Interface (CLI)?

Ans  x1.copy al.txt C:\ D:
% 2. move al.txt C:\ D:
« 3. copy C:\al.txt D:

x 4. move C:\al.txt D:\

Q.64 Which memory level is nearest to the CPU and provides quick access to commonly used data and instructions?
Ans « 1. Cache memory

% 2. RAM

x 3. Hard drive

x 4. Optical drive

Q.65 Which of the following is NOTa commonly used email client software?
Ans « 1. WhatsApp

2. Thunderbird

x 3. Gmail

x 4. Outlook Express

Q.66 What function does a command prompt serve in a Command Line Interface (CLI)?
Ans « 1. It indicates the location where users can type commands.

x 2. It provides a storage representation of system processes.

3. It shows the output of the previous command.

x 4. It displays the current system date and time.

Q.67 What is the purpose of using the options 'Before' and 'After' in the Paragraph dialog box in Microsoft Word?
Ans  x1.To change the font and the style of the paragraph
« 2. To add space above and below the paragraph
x 3. To adjust the line spacing within the paragraph
x 4.To change the indentation of the paragraph
Q.68 When aligning text in MS Word, what is the key difference between 'jJustified' alignment and 'Distributed'
alignment?
Ans 1. 'ustified' aligns text to both the left and right margins, while 'Distributed' adds extra spacing between characters.
x 2. 'Justified' aligns text to the left margin only, while 'Distributed' centers the text.
x 3. Justified' compresses text lines and 'Distributed' evenly spaces characters and lines.

x 4. 'Justified' only affects the first and last lines, while 'Distributed' affects all lines equally.

0.69 ‘What is the process of opening an existing spreadsheet in MS Excel?

Ans x 1. Press Alt+0, then Arrow down to Open and press Enter
2. Press Alt+S, then Arrow down to Open and press Enter
% 3. Press Alt+P, then Arrow down to Open and press Enter

« 4. Press Alt+F, then Arrow down to Open and press Enter

Q.70 A wide area network (WAN) is two or more ______ connected together.
Ans x 1. CANs

x 2. MANs

x 3. HANs

« 4. LANs (smaller networks spread widely)
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Q.71 What is the standard extension for downloaded web pages?

Ans X1 docx
X 2. pptx
« 3. html

x4 exe

Q.72 Which of the following shortcut keys is used to display the Print Preview option in MS Word?
Ans  x1.Ctrl+F3

% 2. Alt + F2

% 3.Ctrl + F4

4. Ctrl + F2

Q.73 VPNisusedto

Ans « 1. provide a secure access over a public network
2. reduce network traffic
x 3. share files between computers

x 4. improve internet speed

0.74 ‘Which of the following keyboard combinations are shorteuts for *Save’ and “Save as’ in MS Word?

Ans 1 save=Ctrl+z:Saveas=Alt+F+ A

v 2. Save=Ctrl+s:Saveas=Alt+F+ A

X 3. Save=Ctrl +s ;Saveas=Alt +F+P

X4 Save=Ctrl+s;Saveas=Alt+F+7Z
Q.75 What is the benefit of starting a new presentation with a blank slide layout in MS PowerPoint?
Ans  x 1. It provides built-in content and images.

« 2. It allows for easier customisation and design from scratch.

x 3. It saves the presentation automatically to a cloud service.

x 4. It automatically includes pre-designed themes and templates.

Q.76 Which of the following Internet services allows users to store and access files and applications over the Internet?
Ans x 1. Email

« 2. Cloud Computing

% 3. Social Media

X 4. Instant Messaging

Q.77 How can a user quickly enter a series of numbers in a spreadsheet of MS Excel?
Ans  x1.Select the column->Enter the middle number->Drag to the cell where it is to be filled
x 2. Select the row->Enter the middle number->Drag to the cell where it is to be filled
x 3. Select the row->Enter the starting number->Drag to the cell where it is to be filled
« 4. Select the cell->Enter the starting number->Drag to the cell where it is to be filled
Q.78 Where does one need to define the custom list, if one wants MS-Excel to recognise and automatically fill a series of
custom text?
Ans  x1.In Conditional Formatting rules
¥ 2.In the Data Tab under Sort & Filter
« 3. In File — Options — Advanced — Edit Custom

x 4. Lists in the Advanced Filter options
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Q.79 Which of the following internet services is specifically designed for real-time text-based communication between

users in a virtual room?
Ans x 1. VoIP
x 2.FTP
v 3.IRC
x 4. Email
Q.80 Which function allows you to style a paragraph so that the initial sentence is indented more than the subsequent
sentences in Microsoft Word?
Ans  x 1. Right Indent
x 2. Hanging Indent
x 3. Left Indent
« 4. First Line Indent
Q.81 Ajay labelled the price of an article so as to earn 30% profit. However, while selling, he offered an 8% discount on

the labelled price. If he sold the article for ¥11,960, then what was the cost price of the article?
Ans x 1.312,000
% 2.¥11,000
x3.%10,500

«4.310,000

Q.82 If a man bought 7 sharpeners for ¥4, and sold them at 5 sharpeners for ¥8, then the gain percentage is __ %.
Ans x1.190

x2.170

x3.200

v 4.180
Q.83 Two candidates participated in an election. 20% voters did not cast their votes. 6,35,000 votes were declared

invalid and the winner got 67% of the valid votes and won by 4,25,000 votes. Find the number of voters registered

in the constituency.
Ans x 1.23,25,650
v 2.23,56,250
x 3.23,65,520
x 4.23,55,620
0.84 A retailer buys an electronic item for ¥175. His overhead expenses are ¥25. He sells the electronic item for ¥480
and makes x% profit. The value of x is:
Ans x 1.160
x2.120
3. 140
x4.130
Q.85 A train departs at 6 a.m. at a speed of 72 km/hr. On the same day, another train starts at 7:30 a.m. in the same
direction, travelling at a rate of 84 km/hr. At what time will the trains meet?
Ans x 1.3:30 p.m.
x2.4:00 p.m.
« 3.4:30 p.m.

x 4.5:00 p.m.
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Q.86 The price of an article is first decreased by 25% and then increased by 42%. If the resulting price is ¥852, what was

the original price (in ¥) of the article?
Ans « 1.800
x2.750
% 3.700
x 4.650
Q.87 In a coaching centre, there are 32 students in the Mathematics batch with an average age of 18 years, and in the

English batch, there are 36 students with an average age of 21 years. What is the average age of both batches

together (rounded off up to two decimal places)?
Ans x 1.20.39 years
% 2.19.18 years
« 3.19.59 years
x 4.20.08 years
Q.88 3 years ago, the average age of A, B, and C was 74 years. 3 years from now, the average age of A and C will be 89
years. What will be the age (in years) of B, 3 years from now?
Ans » 1.62
x2.67
x3.59

x 4.60

Q.89 Evaluate the following:

1850 - [450 - {210 - (90 - 60 - 7)}]
Ans  x1.1447
v 2.1587
x3.1517

x 4.1662

Q.90 The average of the first 25 natural numbers is:
Ans x1.14
x2.135
x3.12.5
w413
Q.91 An item is marked 100% higher than its cost price. Even after allowing some discount, the shopkeeper earned 16%
profit. Find the discount percentage allowed by the shopkeeper.
Ans  x1.43%
v2.42%
x3.41%
x 4.45%

Q.92 If 4% of x =216, then x = ?
Ans x 1.10900

x 2.5500

x3.10800

v 4.5400
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Q.93 A train travels at an average speed of 30 miles per hour for 2.5 hours and then travels at a speed of 60 miles per

hour for 1.5 hours. The total distance (in miles) covered by the train is:
Ans « 1.165

x2.180

x3.90

x4.135

3 2
Q Pipe P can fill 3 part of a tank in 18 hours and pipe Q can fill ° part of the same tank m 20 hours. Both P and Q were kept open for 2 hours, then both were closed

- Pipe R alone was then opened and it emptied the water m the tank m 4 howrs. Pipes P, Q and R together can fill the empty tank mn:

> &~ ©

132 hours

=]

% 2.27 hours
% 3.29 hours
« 4. 45 hours
Q.95 The present age of Jayadeep is four times his son's age. Four years ago, Jayadeep’s age was seven times his son’s
age. Find his son's age (in years).
Ans # 1.8
x2.10
x3.12
x4.6
Q.96 If mis the least number which must be subtracted from 5936 to make it a perfect square and n is the smallest
number with which 240 should be multiplied to make it a perfect square, then the value of m2 - 2(n - 1) is:
Ans x1.16
x2.32
% 3.40
421

0.97 Simplify the following.
(2.35)2 — (1.65)°
2.35 — 1.65
Ans x1s

x2.8
w34
x4.6
Q.98 Two pipes P and Q together can fill a cistern in 5 hours. If pipe P alone can fill the cistern in 6 hours, in how much
time will pipe Q alone fill the cistern?
Ans  x1.25hours
x 2.15 hours
« 3.30 hours

% 4.10 hours
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Q.99 If A and B have incomes in the ratio 8 : 5 and expenditure in the ratio 5 : 2, and each one of them saves ¥2,16,000,
then what is the income (in ¥) of A?

Ans x 1.5,67,000
% 2.5,70,600
% 3.5,60,700
«4.5,76,000

2x—-1

0.100 1f3* — 3%~1 = 54, then the value of
2x+3

is:

Ans  x1.7
6

x 4.

0 |-
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